

ISSN:978-978-923-450-9



VOL. 2 NO. 1

JUNE, 2014

TARABA

JOURNAL OF AGRICULTURAL RESEARCH (TAJAR)

With support from



TARABA JOURNAL OF AGRICULTURAL RESEARCH

"TAJAR"

ISSN: 978-978-923-450-9

Volume 2, No.1, June, 2014

EDITORIAL ADVISER

Professor Mohammed Sani Yahaya

Vice Chancellor

Taraba State University, P.M.B. 1167 Jalingo

EDITOR-IN-CHIEF

Dr. Aliyara Haruna Yakubu

Department of Animal Science

Taraba State University, Jalingo

MANAGING EDITOR

Dr. Chukudi G. Michael

Dept. of Agronomy

Taraba State University Jalingo

ASSOCIATE EDITORS

Prof. Daniel T. Gungula

Dept. of Crop Production
& Horticulture,
MAUTECH Yola

Prof. M.B. Sastawa

Dept. of Crop Protection
University of Maiduguri

Prof. N. Voncir

Dept. of Soil Science
ATBU Bauchi

Prof. H. Tijjani-Eniola

Dept. of Agronomy
University of Ibadan

Prof. G.N. Akpan

Dept. of Animal Science
ABU Zaria

Prof. C. Akosim

Dept. of Forestry and
Wildlife, MAUTECH Yola

Prof. E. Ekefan

Dept. of Crop Production
University of Agriculture
Makurdi

Prof. J.N. Maduako

Dept. of Agricultural
Engineering,
MAUTECH Yola

Prof. F.A. Ajayi

Dept. of Agronomy
Nassarawa State University
Shabu Lafia

Copyright © TAJAR, 2014

This is an open access Journal, however, a written permission of the publisher is required for storage or transmission of any part of this journal in any form.

TARABA JOURNAL OF AGRICULTURAL RESEARCH (TAJAR)
VOLUME 2, NUMBER 1, JUNE, 2014

TABLE OF CONTENT

ASSESSMENT OF CONSTRAINTS LIMITING VEGETABLE PRODUCTION IN JABA LOCAL GOVERNMENT AREA OF KADUNA STATE, NIGERIA <i>Makarau, S. B., Wamagi, I. T., Ogilvie, A. G., Shekari, C and Ali, A. H.</i>	1-5
CONSTRAINTS FACED BY YOUTHS IN AGRICULTURE IN ASA L.G.A. OF KWARA STATE, NIGERIA. <i>Adekunle, O.A., Olorunfemi, O.D., Abbas, I.A., Ogunlade, I., Akangbe, J. A. Matanmi, B. M. and Adereti, F. O.</i>	6-9
ECONOMICS ANALYSIS OF YAM PRODUCTION IN IKWO LOCAL GOVERNMENT AREA OF EBONYI STATE, NIGERIA. <i>OKELOLA, O.E., ARIYO, O.C., UME, S.I., ANOZIE, R.O. AND OLOWOYO, B.F.</i>	10-13
DETERMINANT FACTORS IN LOAN DISBURSEMENT TO YAM (<i>Discorea Spp</i>) FARMERS IN EHIME MBANO, IMO STATE, NIGERIA: A CASE STUDY OF NSU MICRO FINANCE BANK. <i>Anozie, R. O; Ume, S. I; Okelola, O. E; Anozie, S.N and Ubani, S.I.</i>	14-18
IMPACT OF PROMOTING SUSTAINABLE AGRICULTURE PROJECT IN SOUTHERN BORNO STATE, NIGERIA (PROSAB): A QUANTITATIVE AND QUALITATIVE ANALYSIS. <i>E.A.G. Manza and A.L. Banta</i>	19-29
PRODUCTIVITY AND INCOME INCREASE AMONG RURAL FARMERS IN FADAMA II COMMUNITIES OF ADAMAWA STATE, NIGERIA. <i>Umar Adamu Madu and Mahmood H. Umar</i>	30-36
THE EFFECT OF TECHNOLOGY ADOPTION ON YIELDS AMONG FADAMA III FARMERS IN ADAMAWA STATE, NIGERIA. <i>Umar Adamu Madu and Mahmood H. Umar</i>	37-42
GOVERNMENT'S AGRICULTURAL BIODIVERSITY CONSERVATION INITIATIVES IN GUINEA SAVANNAH ECOLOGICAL ZONE OF TARABA STATE, NIGERIA. <i>Camilus Bassey Ben and Linus Akomaye Adie</i>	43-48
THE PATHOGENICITY OF CUCUMBER MOSAIC VIRUS (CMV) AND PUTATIVE BITTERLEAF MOSAIC VIRUS (BLMV) ON <i>Celosia argentea</i>. <i>Aliyu, T.H., Balogun, O.S., Osumah, R., and Adeoti, O.M.</i>	49-53
GENETIC VARIABILITY IN SINGLE CROSSES OF QUALITY PROTEIN MAIZE. <i>M. Yusuf</i>	54-59
ESTIMATES OF HERITABILITY AND SELECTION RESPONSE IN COTTON (<i>Gossypium spp.</i>) UNDER THREE DIFFERENT CONDITIONS. <i>Yahaya, A.I., S.G. Ado, M.F. Ishiyaku, I. Onu and A. Usman</i>	60-68
ASSESSMENT OF NUKKAI RIVER BASIN, JALINGO FOR ORGANIC FOOD PRODUCTION. <i>Michael, G. C., Bulus O., Yahaya B. and B. Aliyu</i>	69-75
EFFECT OF GRADED LEVELS OF OVEN DRIED MAGGOT MEAL ON GROWTH PERFORMANCE AND CARCASS CHARACTERISTICS OF BROILER CHICKEN. <i>E. Z. Jiya, B. A. Ayanwale, B. A. Awodiya and G. A. Oladipo, D. N. Tsado, P. S. Kolo and O. J. Alabi</i>	76-82
EFFECT OF VITAMIN C SUPPLEMENTATION ON EGG QUALITY AND PRODUCTION TRAITS OF JAPANESE QUAIL (<i>Coturnix coturnix japonica</i>). <i>V. Ojo, O. M. Adesina, I. A. Jimoh and T.R. Fayeye</i>	83-87
EVALUATION OF DRESSING PERCENT AND QUANTITATIVE SKIN TRAITS IN NIGERIAN GOAT BREEDS. <i>A. T. Yusuff and T. R. Fayeye</i>	88-93
PHENOTYPIC CHARACTERIZATION OF BODY MEASUREMENT PARAMETERS OF SHEEP IN SOUTHERN PARTS OF KADUNA STATE, NIGERIA. <i>Wamagi, I.T., Makarau, S. B., Shekari, C., Ogilve, A.G. and Ali, A. H.</i>	94-97
PERFORMANCE AND CARCASS CHARACTERISTICS OF BROILER FINISHER FED GRADED LEVELS OF <i>Detarium microcarpum</i> SEED MEAL FORTIFIED WITH BREWERS DRIED GRAIN. <i>Mufwa J.B.; Zaklag D.U; Tukur S.I., Edward V. and Olusiya J.A.</i>	98-101
PROSPECT OF FORESTRY AND WILDLIFE AS A PROFESSION AMONG WOMEN: A CASE STUDY OF COLLEGE OF AGRICULTURE, JALINGO, TARABA STATE NIGERIA. <i>Gideon P.K., Othaniel A.E., Richard I.</i>	102-105
Authors Guide	106

EFFECT OF VITAMIN C SUPPLEMENTATION ON EGG QUALITY AND PRODUCTION TRAITS OF JAPANESE QUAIL (*Coturnixcoturnix japonica*)

V. Ojo^{1*}, O. M. Adesina^{**}, I. A. Jimoh^{*} and T.R. Fayeye^{*}

^{*} Department of Animal Production, Faculty of Agriculture, University of Ilorin, Ilorin, P.M.B 1515, Ilorin, Kwara State, Nigeria..

^{**} Department of Animal Production, Fisheries and Aquaculture, College of Agriculture, Kwara State University, Malete, kwara State.

¹Corresponding author. Email: ojo_victoria@yahoo.com.

Abstract

An experiment was conducted to study the effects of Vitamin C (L-ascorbic acid) supplementation on egg quality and production traits of Japanese quail (*Coturnixcoturnix japonica*). Forty-eight laying Japanese quails were selected at 9 weeks from an existing flock and allotted to 4 treatment groups of 12 birds per group with 3 replicates in each group. Birds in treatment 1 served as the control group and were fed a basal diet (19% crude protein; 2700 Kcal/kg) with no vitamin C supplementation. Birds in treatment 2 were fed basal diet + 250 PPM vitamin C supplementation. Birds in treatment 3 were fed basal diet + 500 PPM vitamin C supplementation, while birds in treatment 4 had basal diet + 750 PPM vitamin C supplementation. Birds fed Vitamin C supplemented diets had significantly higher ($P<0.05$) feed intake (FI), feed conversion ratio (FCR) and hen day production (HDP). Birds that were fed with 500 PPM vitamin C supplementation had the best FCR and HDP. Average egg weight (AEW), egg width (EW), yolk height (YH) and haugh unit (HU) were also significantly ($P<0.05$) higher in Vitamin C supplemented groups than the control group. Cost benefit ratio analysis showed that birds on 500 PPM vitamin C supplementation had the highest returns on investment. The results of this study suggest that the supplementation of diet of laying Japanese quail at 500 ppm in hot tropical weather had beneficial effects on egg production, egg quality and on the benefit: cost ratio.

Keywords: egg quality, heat stress, Japanese quail, Vitamin C

Introduction

The tropical environment is characterised by high ambient temperature which depresses bird's performance and productivity through reduced feed intake, decreased nutrient utilization, growth rate and egg quality which lead to economic losses in poultry (Roberts and Wall, 1998, Sahin *et al.*, 2009). Heat stress occurs in animals when there is an imbalance between heat production within the body and its dissipation. Reactive oxygen species (ROS) are constantly generated *in vivo* during metabolism and may cause oxidative stress when their level exceeds the threshold value. To combat oxidative stress, the body innately produces antioxidants such as vitamin C in their kidneys to quench these free radicals called ROS. However, endogenous ascorbic acids is insufficient to meet the birds' requirement during heat stress (Abidin and Khatoon, 2013). Farmers on their part usually respond to the negative impact of heat stress on poultry production by cooling the livestock buildings. To ameliorate the high cost involved in cooling animal buildings and boost livestock performance during heat stress, researchers have employed dietary manipulations such as supplementation of feed and or water with non-

enzymatic antioxidants like vitamin C, vitamin E, zinc, and chromium picolinate (Kassim and Norziha, 1995; Sahin and Sahin, 2001; Sahin *et al.*, 2003a; Lohakareet *et al.*, 2004 and Ajakaiye *et al.*, 2011).

Several studies have shown a positive effect of dietary vitamin C supplementation on different poultry production traits (Cheng *et al.*, 1990; Zapata and Gerratt, 1995; Sahin and Kucuk 2001; Sahin *et al.*, 2003a and Sahin *et al.*, 2003b). For instance, Zapata and Gerratt (1995) reported the positive effects of Vitamin C in maintaining egg production and egg shell quality of White leghorn hens during heat stress. Cheng *et al.* (1990) also reported the positive effects of Vitamin C on livability and performance of laying hens. Vitamin C has proven beneficial when added to feed and water fed to broiler chicken during the summer stress (Lohakareet *et al.*, 2004). Onole *et al.*, (2003) had reported an improvement in livability, egg production, feed consumption, egg weight and egg shell weight when Japanese quails reared under heat stress were expose to vitamin C supplementation. In the contrary, Bardakçioglu *et al.* (2005) observed that vitamin C supplementation had no significant effect on feed consumption, feed

conversion and egg shell thickness in the diet of laying Japanese quail.

The recent increased interest in Japanese quail for commercial egg and meat production in tropical countries such as Nigeria underscore the need for studies on impact assessment and mitigation strategies to alleviate the negative impact of high environmental temperature on quail performance.

A growing wealth of scientific evidence in farm animals have suggested that responses to the same nutritional regime varies from one environment to the other and there is therefore the need to avoid the one-size fits all approach in nutrients substitution from one region to the other. This study therefore aims to evaluate the effect of dietary vitamin C supplementation on egg production and quality traits of Japanese quail in Nigeria.

Materials and Methods

Experimental site:

The study was carried out at the poultry section of the Teaching and Research farm, Faculty of Agriculture, University of Ilorin, Ilorin, Nigeria. The study area is located between the rainforest of the Southwest and Savannah grassland of the Northern Nigeria. It lies within 8° 30' 0" North, 4° 33' 0" East at an altitude of 305m, 1001' above sea level. Its day temperature and annual rainfall is between 600-1200 mm per annum and 33-37° C, respectively. Ilorin has relative humidity of 75-80% and 65% in wet and dry seasons, respectively.

Experimental Birds and Diets:

Forty-eight, female Japanese quails at nine (9) weeks old were randomly selected from an existing flock at the Teaching and Research farm of the University of Ilorin. The birds were housed individually in cages and allocated to four dietary treatment groups based on vitamin C inclusion level. Each treatment group had 3 replicate with 4 birds per replicate. A basal ration (Table 1) of 19.5% crude protein and 2800Kcal/kg was formulated based on requirements for laying quails. Birds in treatment 1 (control) were fed with basal diet (19.5% crude protein; 2800Kcal/kg) with no vitamin C supplementation. Birds in treatment 2 were fed with basal diet with 250 ppm vitamin C supplementation. Birds in treatments 3 and 4 were fed with basal diet and 500 ppm and 750

ppm vitamin C supplementation, respectively. Feed and water was provided *ad libitum* for the 8 weeks period of the experiment.

Data collection and statistical analysis:

Data on daily egg production were collected from 9th to 17th weeks of age. Eggs were collected at the same time each day, and daily egg numbers were divided by the number of birds to obtain the daily egg production (%). Data on feed intake, mortality rate and feed conversion ratio (grams of feed/dozen egg) were also collected. Twelve (12) eggs were randomly selected per treatment for weekly egg analysis. The eggs were weighed individually (in grams) using a sensitive electronic scale to determine the mean egg weight. Egg length, egg width, shell weight, yolk weight, yolk index, albumen index, albumen height, shell thickness and the haugh unit were determined according to the methods of Kul and Seker (2004). Egg length and height were determined in centimeters using a vernier caliper and micrometer screw gauge. The haugh unit (HU) was determined using the formulae;

$$HU = 100 \log[H - \sqrt{(30W^{0.37} - 100)} + 19]$$

Where H = Albumen height, W = Egg weight

All data collected were subjected to a one way analysis of variance procedure of SPSS Version 16 (SPSS, 2008).

Table 1: Composition of the Basal diet

Feed Ingredients	Quantity (%)
Maize	55.00
Soya bean meal (SBM)	24.00
Fish meal	2.00
Groundnut cake (GNC)	4.00
Wheat offal	6.00
Bone meal	2.00
Limestone	6.00
Salt	0.30
Vitamin premix	0.25
Methionine	0.30
Lysine	0.15
Total	100.00
Nutrients composition on dry matter basis:	
Crude protein (%)	19.55
Metabolizable energy ME (Kcal/kg)	2810.60
Calcium	2.99
Phosphorus	0.80
Crude fibre	3.46

Results and Discussion

The effects of dietary vitamin C supplementation on egg production, feed intake

and feed conversion ratio (FCR) of Japanese quail are shown in Table 2. Feed intake, FCR and hen day production were significantly better ($P<0.05$) in Japanese quail that were fed with vitamin C supplemented diets than in the control group. Feed intake was not significantly different ($P>0.05$) among treatment groups receiving vitamin C supplementation, though treatments 2 and 3 had the highest value of 26.55g/bird/day. Feed conversion ratio in terms of grams of feed/dozen egg also showed no significant difference ($P>0.05$) among groups receiving vitamins C inclusion. Treatment 3 with 500 ppm however had the least amount of 347.31g/dozen eggs while the control group had the highest value of 357.11g/dozen eggs. Hen-day production was significantly higher ($P<0.05$) in birds receiving 500 ppm vitamins C supplementation with a value of 93.50% HDP. HDP was least in the control group (86.14%) while treatments 2 and 4 had values of 91.22% and 90.82%, respectively. Mortality rate however showed no significant difference ($P>0.05$) among the four treatment groups.

The significant improvement recorded in feed intake and egg production in the present study as a result of dietary vitamin C supplementation is in agreement with the findings of other researchers (Lohakareet *al.*, 2004, Onolet *al.*, 2003, Okanet *al.*, 1999 and

Sahinet *al.*, 2003b). The significant improvement in feed intake and feed conversion ratio obtained in this study is similar to the reports of Nazligulet *al.*, (2001) who reported a feed intake of 26.40g/bird/day in their study on production traits and egg quality characteristics of Japanese quail. Onolet *al.* (2003) also reported improvement in feed consumption (23.15g/bird/day) and (354g/dozen eggs) in their report on Japanese quail fed diets with vitamin C supplementation. An earlier work by Okan (1999) showed a higher value of 31.33g/bird/day for feed consumption. BardakciogLuet *al.* (2005) however reported a lower FCR with quails on 500 ppm of vitamin C having the least value of 274.95g/dozen eggs.

The HDP obtained in this study for quails with vitamins C inclusion was higher than values reported by several authors (Okan, 1999, BardakciogLuet *al.*, 2005, Onolet *al.*, 2003). BardakciogLuet *al.* (2005) reported lower values of 82.54-86.43% while Okan (1999) reported HDP of 82.69%, which was close to a value of 83.8% reported by Onolet *al.* (2003). Sahinet *al.* (2003b) reported a reduced HDP value of 75.3%. Livability values were numerically similar to the value reported by BardakciogLuet *al.* (2005) for quails fed diet supplemented with 150 ppm vitamin C.

Table 2: Effects of Vitamin C Supplementation on Performance of Laying Japanese quail.

Vitamin C inclusion Level	0ppm	250ppm	500ppm	750ppm
Hen day production (%)	86.14 ± 1.22 ^a	91.22 ± 0.54 ^{bc}	93.50 ± 0.36 ^c	90.82 ± 0.44 ^b
Feed Intake (g/bird/day)	26.24 ± 0.04 ^a	26.55 ± 0.05 ^b	26.55 ± 0.02 ^b	26.53 ± 0.01 ^b
FCR (g/dozen egg)	357.11 ± 2.96 ^b	347.31 ± 1.19 ^a	346.02 ± 1.78 ^a	348.86 ± 2.37 ^a
Mortality Rate (%)	5.31 ± 1.04	4.27 ± 1.09	4.34 ± 1.16	5.38 ± 1.07

FCR represents Feed Conversion Ratio, ^{a-c} Means in the same row having different superscript differs significantly, ($P<0.05$).

Table 3 shows the effect of vitamin C supplementation on egg quality traits of Japanese quail. Average egg weight, egg width, yolk weight, yolk height, albumen height and haugh unit were significantly higher ($P<0.05$) in quails receiving vitamin C supplementation than those in the control group. Egg length, shell weight, yolk width, yolk index, albumen weight and shell thickness however showed no significant differences ($P>0.05$) among treatment means. The beneficial effect of vitamin C supplementation on egg quality parameters agrees with the findings of Sahinet

al., (2003b), Kassim and Norziha (1995) and Ajakaiyeet *al.* (2011).

The mean egg weight obtained from each of the treatment groups in the present study were higher (10.79-11.48g) than the 9.63- 9.89g range that was reported by BardakciogLuet *al.* (2005) but similar to the 11.46g reported by Onolet *al.* (2003). Sahinet *al.* (2003b) reported the mean egg weights of 11.6g and 11.4g for quails fed supplementary vitamin C and vitamins E, respectively. Egg width was similar (2.28cm) in all treatment groups receiving vitamin C supplementation and significantly

higher ($P < 0.05$) than the control group (2.11cm). Egg shell weight though not significantly different ($P > 0.05$) among treatment means were numerically higher in birds receiving vitamins C than in the control group. The values for egg shell weights ranged from 1.15 – 1.34g. The egg shell weights in the present study were similar to the values reported by Sahinet *al.* (2003b) but higher than the results reported by Nazligulet *al.* (2001) and BardakciogLuet *al.* (2005). This is however expected since the egg weight in the present study is higher than that reported by the last two authors. Yolk weight was significantly higher ($P < 0.05$) in treatment groups receiving vitamin C inclusion with treatment 3 having the highest value of 3.90g. Similarly, yolk height was significantly higher ($P < 0.05$) in birds receiving vitamin C in their diets with birds on 750ppm vitamin C supplementation having the highest value of 11.47mm. Albumen height was highest (5.85mm, $P < 0.05$) in birds receiving 500ppm vitamin C supplementation.

Shell thickness was not significant different ($P > 0.05$) among treatment means, however it was numerically higher in birds receiving vitamin C supplementation. The mean

for shell thickness are in agreement with values reported in literatures for quail egg shell thickness (Nazligulet *al.*, 2001, Sahinet *al.*, 2003b, BardakciogLuet *al.*, 2005). BardakciogLuet *al.* (2005) had reported values ranging from 202 – 205 μ while Nazligulet *al.*, (2001) reported a value of 0.206mm. Sahinet *al.* (2003b) reported a significantly higher value for shell thickness (22.1 μ m) in quails fed vitamin C supplemented diets than the control group. Haugh unit varied from 87.08 to 89.29 among the four treatment means. Birds receiving vitamin C inclusion in the diet had significantly higher ($P < 0.05$) values with birds on 500ppm having the highest value of 89.29. These values correspond to the report of Sahinet *al.* (2003b) who had earlier reported a value of 90.5 in quails fed vitamin C in their diet. Dietary vitamin C supplementation has been reported to increase egg production, egg shell strength, and interior egg quality traits in stressed-laying hens (El-Boushyet *al.*, 1968). Sahinet *al.* (2003b) explains the role of ascorbic acid in bone maturation and mobilization of calcium from bones which suggest its importance in egg formation.

Table 3: Effects of Vitamin C Supplementation on Some Egg Quality Traits of Japanese Quail

Egg Quality Parameters:	Treatments			
	I 0ppm	II 250ppm	III 500ppm	IV 750ppm
Average Egg Weight (g)	10.79 $\pm$ 0.03 ^a	11.48 $\pm$ 0.01 ^d	11.31 $\pm$ 0.04 ^c	11.12 $\pm$ 0.03 ^b
Egg length (cm)	3.02 $\pm$ 0.01	3.01 $\pm$ 0.01	3.00 $\pm$ 0.02	2.99 $\pm$ 0.03
Egg Width (cm)	2.11 $\pm$ 0.06 ^a	2.28 $\pm$ 0.03 ^b	2.28 $\pm$ 0.04 ^b	2.27 $\pm$ 0.02 ^b
Egg shell weight (g)	1.15 $\pm$ 0.01	1.17 $\pm$ 0.01	1.15 $\pm$ 0.01	1.34 $\pm$ 0.02
Yolk weight (g)	3.23 $\pm$ 0.04 ^a	3.64 $\pm$ 0.05 ^{ab}	3.90 $\pm$ 0.07 ^b	3.81 $\pm$ 0.06 ^b
Yolk Height (mm)	10.21 $\pm$ 0.03 ^a	10.77 $\pm$ 0.08 ^b	10.92 $\pm$ 0.21 ^b	11.47 $\pm$ 0.17 ^c
Yolk Width (mm)	18.59 $\pm$ 0.02	18.52 $\pm$ 0.02	18.83 $\pm$ 0.06	18.39 $\pm$ 0.48
Yolk Index (%)	54.92 $\pm$ 0.08	57.48 $\pm$ 0.49	57.97 $\pm$ 0.84	57.64 $\pm$ 3.92
Albumen Weight (g)	5.21 $\pm$ 0.04	5.66 $\pm$ 0.08	5.69 $\pm$ 0.21	5.65 $\pm$ 0.21
Albumen Height (mm)	5.24 $\pm$ 0.09 ^a	5.63 $\pm$ 0.05 ^{ab}	5.85 $\pm$ 0.13 ^b	5.61 $\pm$ 0.22 ^{ab}
Shell Thickness (mm)	0.20 $\pm$ 0.01	0.23 $\pm$ 0.01	0.22 $\pm$ 0.01	0.21 $\pm$ 0.01
Haugh Unit	87.08 $\pm$ 0.29 ^a	88.34 $\pm$ 0.15 ^b	89.29 $\pm$ 0.34 ^b	89.00 $\pm$ 0.31 ^b

^{a-d} Means in the same row having different superscripts differs significantly ($P < 0.05$).

Table 4 shows the cost benefit ratio of including vitamin C in the diet of Japanese quail. Cost benefit ratio was given as 10.17, 9.82, 9.57 and 9.89 for treatments I, II, III and IV respectively. Treatment iii with 500ppm vitamin C inclusion in the diet had the least cost benefit

ratio of 9.57 among all birds receiving vitamin C inclusion while the control with no vitamin C inclusion had the highest ratio of 10.17, thus making the inclusion of vitamin C in the diet more profitable for egg production.

Table 4: Effect of Vitamin C inclusion on Cost Benefit Ratio of Egg Production in Japanese Quail.

Treatments (Vitamin C inclusion)	Cost/kg Feed	Total Feed Cost (₦)	Total Egg Income (₦)	Total Egg Income (₦)	Cost : Benefit
0ppm	72.00	17.47	1,257.84	12,366.67	10.17
250ppm	72.44	17.74	1,285.09	13,090.00	9.82
500ppm	72.88	17.65	1,286.33	13,440.00	9.57
750ppm	73.31	17.60	1,290.26	13,043.30	9.89

Conclusion

The results of this study suggest that the supplementation of vitamin C in diet of laying Japanese quail in hot tropical weather at 500 ppm had beneficial effect on egg production, egg quality traits and on the cost benefit ratio.

References

- Abidin, Z. and Khatoon, A. (2013): Benefits of Vitamin C against heat stress. *World's Poultry Sci. Ass. Online Journal* www.worldpoultry
- Ajakaiye, J. J., Perez-Bello, A. and Mollineda-Trujillo, A. (2011): Impact of heat stress on egg quality in layer hens supplemented with l-ascorbic acid and dl-tocopherol acetate. *Vet. Archive* 81:119-132.
- Bardakcioglu, H. E., Türkyilmaz, M. K., Nazligül, A. and Onol, A. G. (2005): Effects of Vitamin C Supplementation on Egg Production Traits and Eggshell Quality in Japanese Quails (*Coturnixcoturnix japonica*) Reared under High Ambient Temperature. *Turk J Vet Anim Sci.* 29: 1185-1189.
- Cheng, T. K., Coon, C. N. and Hamre, M. L. (1990): Effect of environmental stress on the ascorbic acid requirement of laying hens. *Poult. Sci.* 69: 774-780.
- El-Boushy, A. R., Simons, P. C. M. and Wiertz, G. (1968): Structure and ultra structure of the hen's egg shell as influenced by environmental temperature, humidity and vitamin C additions. *Poult.Sci.* 47: 456-467.
- Kassim, H. and Norziha, I. (1995): Effects of Ascorbic Acid (Vitamin C) Supplementation in Layer and Broiler Diets in the Tropics. *AJAS*, 8 (6): 607-610.
- Kul, S. and Seker, I. (2004): Phenotypic correlations between some external and internal egg quality traits in the Japanese quail (*Coturnixcoturnix japonica*). *International Journal of PoultSci.* 3: 400- 405.
- Lohakare, J. D., Chae, B. J. and Hahn, T. W. (2004): Effects of Feeding Methods (Water vs. Feed) of Vitamin C on Growth Performance and Carcass Characteristics in Broiler Chickens. *Asian-Aust. J. Anim. Sci.* 17 (8): 1112-1117.
- Nazligul, A., Türkyilmaz, K. and Badakcioglu, H. E. (2001). A study on some production traits and egg quality characteristics of Japanese quail (*Coturnixcoturnix japonica*). *Tr. J. Vet. Anim. Sci.* 25: 1007-1013.
- Okan, F. (1999): *Sıcaksofullarda karma yemesodyumbikarbonatkatkısınyumurtacı bıldırcınlarınyumurtaverimözelliklerivebaşıkanparametreleriüzerineetkileri*. *Turk.J. Vet. Anim. Sci.* 23 (1): 139-143
- Onol, A. G., Sar, M., Ouz, F. K., Gülcan, B. and Erbafl, G. (2003): *Süreklisıcakstresindebulunanyumurtlamadönemi ndekibıldırcınlarınrasyonlarınaprobityotikkatısı nınbaşıverimvekanparametreleriüzerineetkisi*. *Turk. J. Vet. Anim. Sci.* 27: 1397-1402.
- Roberts, J. R. and Wall, B. (1998): Effects of heat stress on egg and egg shell quality in five strains of laying hens. *Proc. Aust. Poult. Sci. Sym.* 10.
- Sahin, K., Sahin, N., Kucuk, O., Hayirli, A. and Prasad, A. S. (2009): Role of dietary zinc in heat-stressed poultry. *A review Poultry Science* 88:2176-2183.
- Sahin, K. and Kucuk, O. (2001): Effects of vitamin C and vitamin E on performance, digestion of nutrients and carcass characteristics of Japanese quails reared under chronic heat stress (34°C). *J. Anim. Physiol. A. Anim. Nutr.* 85: 335-341.
- Sahin, K., Onderci, M., Sahin, N., Gursu, M.F. and Kucuk, O. (2003a): Dietary vitamin C and folic acid supplementation ameliorates the detrimental effects of heat stress in Japanese quail. *J. Nutr.* 133: 1882-1886.
- Sahin, K., Sahin, N., Onderci, M., Gursu, M. F. and Issi, M. (2003b): Vitamin C and E can alleviate negative effects of heat stress in Japanese quails. *Food Agricult. Envir.* 1: 244-249.
- Sahin, N. and Sahin, K. (2001): Optimal dietary concentrations of vitamin C and chromium picolinate for alleviating the effect of low ambient temperature (6.2°C) on egg production, some egg characteristics, and nutrient digestibility in laying hens. *Vet. Med. Czech* 46 (9-10): 229-236.
- SPSS (2008). Statistical Package for Social Sciences SPSS inc., Michigan avenue, Chicago. Zapata, L. F. and Gernat, A. G. (1995): The effect of four levels of ascorbic acid and two levels of calcium on egg shell quality of forced molted white leghorn hens. *Poultry Science* 74: 1049-1052.

(Received 28May, 2014; Accepted 30 June, 2014)